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2909/3 RIZV1 COLLEGE OF A/S/C

FOUNDATION COURSE

PAPER -II (Sem II)

(2 l/2Hours) Total Marks : 75

N.B : (1) All questions are compulsory.

(2) Figures to the right indicate full marks.

Q. 1 .(A) Choose the correct alternative (Any eight) : 08 Marks

i)means  movement or shift of people from one place to another.

(Migration, Liberalisation, Globalisation,Privatisation)

" ii) is known as the Silicon Valley of India.

(Kashmir, Mumbai, Pune, Bangalore)

iii)Human  Rights with special reference to Fundamental Rights are enshrined in the of the Indian
Constitution.

(I,II, HI, IV)

iv)Human  rights have application.

(Limited,Maximum,Universal, Most)

v)feed  on both the autotrophs and the consumers.

(Decomposers ,Herbivorous, Carnivorous, Omnivorous)

vi)The is the solid,rocky,crust covering entire planet.

Q (Lithosphere, Hydrosphere , Biosphere ,Atmosphere)

vii)means  prejudgement.

(Aggression, Violence, Prejudice, Preservation)

viii)conflict  is seen in situations where two parties trying to solve a problem together ,become
aware that all the issues are incompatible.

(Cognitive Conflict, Affective Conflict, Structural Conflict, Behavioural conflict)

ix)According  to Abraham Maslow’s belief needs all human beings have a need to be respected and to
have self-respect.

(Transcendence, Physical, Esteem, Self-Actualization)

x)Di  vorce is kind of stress.

(Organisational, Environmental, Background, Personal)

(D) State whether the following statements are True or False (Any seven) : 07Marks

i) Globalisation has resulted in no competition to small scale units



ii) Maharashtra has the largest number of farmers’ suicide cases.
iii) The right against exploitation provides for abolition of child labour only.
iv) Human Frights are never absolute.
v) Poverty and environment are not inter -linked.
vi) Ecology helps us to understand the ecosystem.
vii) Person al factors are the only causes of stress.
viii) Prejudice does not cause any confl ict.
ix) All individuals need to have same set of needs.
x) Compromising helps in conflict resolution.

Q. 2 . “Globalization has led to the changes in agrarian sector”.Discuss. 15 Marks
OR

Q.2 How far Information and Communication T echnology is effective in our day today life?

Q.S.What are the fundamental rights of an ’Indian citizen ?Explain its significance. 15 Marks I
OR

Q.3.What is Magna Carta about?Describe th e characteristics of Human Rights .

Q.4.W hat is the impact of environmental degradation on human life?How can it be controlled? 15Marks

OR

Q.4.,’Explain the concept of sustainable development .and bring out the need for it.

Q.5.,Discuss the agents of socialisation. 15Marks

OR

0.5 Write short notes on (any three) :

(i‘) Migration

(u)Liberalisation

(iii)Abraham  Maslow’s theory of Self-actualisation

(iv)Human  Values

(v)Stress  Management
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Time: 3 hrs Total marks: 100
Semester II Examinations
Note:
AH five questions are compulsory.
Figures to the right indicate full marks.

Q. 1. Write short notes on ANY FOUR from the following topics.
I. Novella
2. Philosophical Fiction
3. Adventure Novel
4. Social Fiction
5. Mystery Fiction
6. Science Fiction

20 Marks

Q. 2. A) Examine how the character of Ram Bharose evolves through the course of the
novella The Blue Umbrella. 20 Maries

OR

B) Do you think that the life experiences of the author had some impact on the
creation of The Blue Umbrella9. Justify your answer with reference to the text.

Q.3. A) Which character in The Financial Expert reveals money obsession? How he faced
ups and downs with his own money mindset? Support your answer with references
from the text. 20 Marks

OR
B) Discuss the conclusion of the novel The Financial Expert in the light of father-son

relationship in the novel.

Q. 4. Write short notes on ANY TWO from the following topics. 20 Maries
A) Lakshmi puja incident.
B) Character sketch of Brinda.
C) Moral of the novel The Financial Expert
D) Theme and plot of The Financial Expert

Q. 5. Write short notes on ANY TWO from the following topics. 20 Marks
A) Describe the landscape of The Blue Umbrella.
B) What is the significance of the title The Blue Umbrella9
C) What was the reaction of the villagers after Ram Bharose stole the umbrella?
D) Character Sketch of Bijju.



FVBA Communication Skills in English
AO3O32-C]

Semester II

I inie: 2hrs 30 mins. Total Marks: 80

QI, Write a short not e on ANY FOUR of the following in about 100 words each: 20
marks

1. Types of i nterviews
2. Indian English
3. Grievance Interview
4. Elements of Creative Writing
5. Elevator pitch
6. G roup Discussion

Q2. Ftead the passage given below and answer the questions that follow:

The Trojan Weir is one of the most famous wars in history. It is well known for the 10-year
duration, for the heroism of a number of legendary characters, and for the Trojan horse. What
may not be familiar, however, is the story of how the war began. According to Greek myth,
the strife between the Trojans and the Greeks started at the wedding of Peleus, King of
Thessaly, and Thetis, a sea nymph. All of the gods and goddesses had been invited to the
wedding celebration in Troy except Eris, goddess of discord. She had been omitted from the
guest list because her presence always embroiled mortals and immortals alike in conflict. To
take revenge on those who had slighted her, Eris decided to cause a skirmish. Into the middle
of the banquet hall, she threw a golden apple marked “for the most beautiful.” All of the
goddesses began to haggle over who should possess it. The gods and goddesses reached a
stalemate when the choice was narrowed to Hera, Athena, and Aphrodite. Someone was
needed to settle the controversy by picking a winner. The job eventually fell to Paris, son of
King Priam of Troy, who was said to be a good judge of beauty. Paris did not have an easy
job. Each goddess, eager to win the golden apple, tried aggressively to bribe him.

“I’ll grant you vast kingdoms to rule,” promised Hera. “Vast kingdoms are nothing in
comparison with my gift,” contradicted Athena. “Choose me and I’ll see that you win victor}7
and fame in war.” Aphrodite outdid her adversaries, however. She won the golden apple by
offering Helen, daughter of Zeus and the most beautiful monad in the land, to Paris. Paris,
anxious to claim Helen, set off for Sparta in Greece.

Although Paris learned that Helen was married, he nevertheless accepted the hospitality of
her husband, King Menelaus of Sparta. Therefore, Menelaus was outraged for a number of
reasons when Paris departed, talcing Helen and much of the king’s wealth back to Troy.
Menela.us collected his loyal forces and set sail for Troy to begin the war to reclaim Helen.

1. Why did the Trojan War take place? 2 marks

2. Who was Helen? 2 marks

3. What did Aphrodite offer Paris? 2 marks



4. Who do you think was responsible for causing the Trojan War? 2 marks

5. Find the synonyms of: 2 marks

a. Heroism
b. Revenge

6. Find the antonyms of: 2 marks

a. Immortal
b. War

7. Fill in the correct form of verb: 4 marks

a. Paris(learn) that Helen was married, he nevertheless (accept) the
hospitality of her husband, King Menelaus of Sparta.

b. She had been '(omit) from the guest list because her presence always
 (embroil) mortals and immortals alike ba conflict.

8. Add a suffix or prefix. and fill in the suitable word: 4 marks

a. He set sail for Troy to begin the war to (claim) Helen.
b. She won the golden apple by (offer) Helen.
c. It is well known for the 10-year duration, for the (hero) of a number of

legendary characters, and for the Trojan horse.
d. Someone was(need) to settle the controversy by picking a winner.

Q3. Attempt ANY TWO of the following: 20 marks

a. Draft a presentation on Climate Change.
b. Prepare a draft for an interview to be conducted for a candidate applying for the post

of a Teacher.
c. Compose a group discussion on ‘Impact of Social Media on education’ with at least

four people.

Q4. 1. Draft a report on any one of the following: 8 marks

a. Write a report on any corrupt activity that you have witnessed.
b. Write a report on the annual cultural fest of your college.

2. Write a brief memoir/personal essay discussing the challenges that you have
overcome in life. 7 marks

3. As the student representative of your college, give the welcome speech to introduce
the chief guest on the occasion of Sports Day. 5 marks



Rizvi College of ASC
Course Code: UASOC201 Paper I

FUNDAMENTALS OF SOCIOLOGY
Examination: F.Y.B.A. Semester: II Time: 3 Hours Marks: 100

Note:
1. Question 1 is compulsory
2. Attempt Any FIVE from question 2 to 9

Qi Attempt any five concepts 25
a. Eye Contact 5
b. Clothing 5
c. Differently abled 5
d. Social Mobility 5
e. Formal Social Control 5
f. Social conformity 5

____g- Crowd 5
___ h. Mob 5

No. Attempt any five Question Marks |
Q.2 Examine in detail Dramaturgy of Ervin Goffman and its significance in

everyday life.
15

Q.3 Critically evaluate the advantages and dis advantages of virtual communicatio.n. 15
Q.4 Define Social stratification. Discuss its functions and features. 15
Q.5 Examine how gender stratification in our society is the hindrance for the

development of the country.
15

Q.6 Theoretically explain the term Deviance. 15
Q-7 Examine various types ofcrime as the violation of a society’s formally

enacted criminal laws.
15

1
Q.8 ’What is collective Behaviour? Illustrate on various forms of collective

behaviour.
15 ;

. - J
Q.9

_____
Define the term Social Movement. Examine various types of Social
Movement.

15
I
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Class: FYBA
Duration: 3 Hours
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Subject: Economics - Paper (201)
Max. Marks: 100

N.B:
1. Attempt all questions.
2. All questions carry equal marks
3. Figures to the right indicate full marks.

1. Answer the following questions. (Any Two) (20)
a) Define Isoquants. Explain its Types.
b) Elaborate on Production Function.
c) Suppose a baker alone can make 200 cakes per month; 2 bakers working in the shop

can produce 500 cakes; 3 bakers 1000 cakes; 4 bakers 1400 cakes; 5 bakers 1700 cakes
and 6 bakers 1900 cakes.

i. Find the Average Product and Marginal Product.
ii. When does the Law of Diminishing Returns begin to operate and

why?

2. Answer the following questions. (Any Two) (20)
a) Explain various concepts of cost.
b) Discuss the concepts of TR, AR, and MR in Perfect Competition.
c) Calculate TC, AFC, AVC, ACZ and MC for the following data.

j Quantity (Q) 0 1 2 3 4 5 6 7
Total Fixed Cost (TFC) 110 110 110 110 110 110 110 110
Total Variable Cost (TVC) 0 60 80 90 110 150 240 360

3. Answer the following questions. (Any Two) (20)
a) Analyze the Recardian Theory of Rent.
b) Discuss the Modern Theory of Wages.
c) Explain the Innovation Theory of Profit given by J. A.Schumpeter.

4. Answer the following questions. (Any Two) (20)
a) Discuss the Short Run Equilibrium of a Firm under Perfect Competition.
b) Explain the Long Run Equilibrium of a Firm under Monopoly.
c) Suppose the Price and TC for various levels of output for a firm working in Perfect

competition are given in the following Table. Find MC, TR, MR, and Profit
Maximizing Output.____________ _______ _______ ________ ____________________

Quantity (Q) Op 1 2 3 4 5 6 7 8 9
Price (P) 0 8 8 8 8 8 8 8 8 8 -J
Total Cost (TC) 10 12 15 19 24 30 _38___ 48 60 75 J

5. Write notes on Any Two of the following.
a) Law of Returns to Scale
b) Long Run Cost Curve
c) Differential Rent Theory
d) Features of Monopolistic Competition

(20)
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PAPER I CODE 201 MORAL PHILOSOPHY

MARKS 100 TIME 3 hrs

N:B; (a) All questions are compulsory.
(b) All questions carry equal marks.
(c) Each question carries 20 marks.

Q1. State and critically evaluate Thomas Hobbes Psychological Egoism.
OR

Q1. Define Epicurean Hedonism. State different kinds of pleasure.

Q2. What is the difference between hypothetical imperative and
categorical imperative?

OR
Q2. How does Hume prove reason alone cannot influence moral action?

Q3. How is love of God identical with love of neighbors ?
OR

Q3. State the 3 levels of morality propounded by Gilligan in the
framework of care ‘ethic’.

Q4.. State the aim of Reformative theory of punishment.
OR

Q4. State the nature of Deterrent Theory of Punishment.

Q5. Write Short Notes on (any 2) of the following.

a. Explain selfishness as a virtue.
b. What is Utilitarianism?
c. Describe the key concepts of Sartre’s ethical theory.
d. Describe Retributive Theory of Punishment.







sffrr W 11 / WWft f^T/^R WFF : UAHINCOM- 201

: 3 ^7 ; 100
tjtott :i) pvfttoot4torf4Wri

2) to4t 4r % to Tjur ^rfcT fi
3 ) TOTO TOT 3TRc||4 fl

tot i. RyRRid TOd<'4i 4Tto4 prfro tottot41Riiii 20

3T) ^TTOff <s^vt-. WT^
Ritotot to ttto

«t>*1 =11-41 Rl41 4 d'bCI'hC

^f+d WTO TOR I

TOrffa, TjTff, TOfMt,

TOftT TT RTT TORR 4t

4t ^<1 f,

TOft 75ft TT^ft f,

Tfr totIto wr 4 to |i

TORT

<) TOT-‘TOTO TTOT TO TOft ’-MI CM | { TO 5TT T^| 4? TO 4t Wt ^nft |l 75fTT-^t TO

W TOT TO <d Id I £>l 41^ 'JTSdT MqI , <dIdd I d^Tll

TOTO

TOTO TO TOT TOT TOTO W |l TO4t ft TO 41^ 4r R>d4T ft fTO TOTJ TOT Tf ft, TO TO

TOTO H <1 TOT5TTO f, TO" d'h TOTO TO dfl TOd 11

TO" 2. R-wRiRld R'rfl ft 41’Hl'd'Tl T’JT 'PTOR RlRl0,1 30

i. 'fror totRt t; sttetr to fw toiRtIR to tot 41 Ro?

3TTOT

TTOT-fTOTOT WCT TOq Tf 4 T[f ?

2 . 'TOT TOTT TOTOT' 'P'RdT TO 'TOT TOTOf PTO W4tt?

TOTO

'^T TOTO 4ttoT' +RdI 4 TOSTOT 4 t44 4t PTOTIdH'b TOT W 41Rn{?



10
tot 3. RvRRid ftroft to RtoRito RRrqi

1. 'TOTTTO^TTOTTT' TORdTTOTTOTTffTO
3TTOT

'jf#' d.Rdl TOT TOTO

2 . 3iH^v| 4d 5JTOTFTO

TOTTO

'TO cfid TO' 'bp141 TO TTOTO

TOJ 4 . RtdRlftad TO<lfd8 TOTO TOFTTTTO-TTTO TOTOT Al Ha 1(1 10

1. TOTO 3frTO TOT ’ft?

2 . A cl I fTOTOT [Arid q?

3. tot toto frorf t froror to tot tott to? ^j

4. TO^TId froro TO^T TOT TO T^T TO?

5. T<TO^TTOt?

6 . Ribl4 TOTTOT TO II eft?

7. TOTT^ TOf T TOT TOT TOT TO?

8. TOTO FT TO I TTTT |j?

9. TOTO R>d + I fWm^?

10. TOTO TO jTTO TOT TOTOTO TOTO TTO?

ws. frro3rfroftttotofarorio

1 . d 1A c4' 3TO TOTTTO

2 . TOW iftfSill TOT TTTOT

3 . T Qc-l I TOftTOT

W6. 3T) TfW TO st^TOT frort^rlw TOTO TO TOR AtItoti 10

1. RtnR-iHad ?|o<i tot RJi dRacfd to<4> RtRiijj 02

1. TOTTO

2. 3TOT

1 2



2 d"dd 4d Ri uj 02

1. wR^T

2 . ^d^b

3. RttRiRid ^To^r^tTrfadi-41 RrRuj 02

1 . <4 < | oj

2. W

4. R^RtRid vt^tR\?ihi;4T Rrfi^i 02

1 . ^Tl d I <4

2. ?K

5. fa y fa(fa<1 y^N<l ft 3t4 =<d i=b< ftct # ftfr =PlRtu,i o2

1 . =bldl FFT MR 3<N<

2. fF FT fl<-||

0 faftfarfftd mw ft h Rvh fw ftct ft t-vw Rlftroj 10

"tt rtm-fa ■-' ft ftrrr" arftr <t mfr ft ,jft ftft f, tR Rw fan ih
Wt fl Rftr fRwidl ft Rftir Tift # Trft srfR fft R dld^ ft mft KSlRbWI Rt 3FW
aWiTTTr HKW ft 7ft fl THT ftv j[F ftf ftft 5FT HFf f? TTW ft, WTFTT ft FT STIR
FIT ftl FT ft7 HFF R HTF d<wfi 3Hft HTF ftl TTF R R+H # ^T TTF Rt FfTT f ft
Vft Rtf WRT 7Fftt ft Fffl 3TFTT R + H R W 3T& ft f ft ^fftr Rt #^FT jft
ftgrf nft ftfti Trfr f ft wm # fK Rnr f Rt 15? Rt surft R ftq; ^ftt Rt htwRt

tritRfef 1 ^rhhshi ^ftf ft wrarRTftRR diRRf Mt3?htft Rhkh fftr
f, Rid Hl ftRt Mr TTI FPW # ft^RT ^ftt Rftt ftt Rt Rtf SrMm dft ^RTT 'T7' RtT RR Rftt
ftt ^T 3JRT WIT fl Rtf ftt RR RRspr Tvft snR <W<j!d RT HW flft f, ft WRf srft
3it # nr-wt tttR nw ?jr wrr f 1 wrf Rr wr w Rff ft wr nff<-i raft R fptrt qf
mP<=ii< Rt ami Rrnrr Rrr Rr tr ftrr ft ftdfl wu ft 1 u,fri t7 t f ft ftfr R ^rff
anrft mfr RtR (h^hi, R ttfft fftr R wrr w wr wtti mr mr hhI+h ft ft wmi
^rit fftr R wr ft Rrf-T-Rtf Rf mfr mfft ^r wr fttR # srw Rfttr

ffrftfi

3TW

ftft Tft-Tft w 7j3ff ffftr to t Rtf .... mf Frer Rf ft ftt ft fftr fft."

★**■**★* **********


